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This Question Paper consists of 36 questions and 14 printed pages including 5 figures + 1 page of Graph.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper code No. 53/AS/3-| A | on the Answer-Book.

7 (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

53/AS/3—211_A |

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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211)
1 :
Time : 25 Hours] [Maximum Marks : 85
T 2% o2 ] [quiies : 85
Note : (1)  Question Numbers 1-10 are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices (A), (B), (C) and (D)
are provided, of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be.
(2) Question Numbers 11 to 15 are very short answer type questions, each carrying
1 mark. Here the answer can be one word or one sentence or as per the
exact requirement of the question.
(3) Question Numbers 16 to 25 carry 2 marks each.
(4) Question Numbers 26 to 33 carry 4 marks each.
(5) Question Numbers 34 to 36 carry 6 marks each.
(6) All questions are compulsory.
(7)  Questions requiring visual input have been explained in words in the question
itself or alternative question is given.
et ¢ (1) usT d®& 1-10 9% gfasedl 9T (Multiple Choice Questions) & | T®
U9 Tk 3 BT 3| UAH UST ¥ AR fased (A), (B), (C), qun (D) fuw 71w
g, T § %ad % Gl 3| oS Wel fa%ed g & U UdE U &
ITY SOl SAGRAET § (A), (B), (C) tgar (D) st A1 Rafq =, fawet
g9 %)
(2) UeT & 11-15 % Ay A &% UBR & U9T &, TI1 &b U7 & Tk
3% ¥ Tl 9T W IOX Uk % H, Uk A9 § AT YT Bl AL
% IR & T 2|
(3) WT W& 16-25 T TA® U & 2 3% T
(4) 9T HEAT 26-33 % UA® U & 4 3F T
(5) WT W& 34-36 96 UA® UIT & 6 3ik D)
(6) T weT sfEd ¥
(7) ued frad argy e & smasgsar ¥ S usAl & fax ol ¥ wwemRn

T ¥ 1Al debfeds W9H eI AT ¥
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1 Which of the following statements is true ? 1
1 o | @ | e W R 7
oot PR
© (e o (3 -

2 The numbers 3 45, 34 when written in descending order are : 1

demat 345,34 @ sEiE we W faey o e o

A 35,.3¥4.4B B) 45.45.34
© BA5G ©) 5 ¥ 45
3 What percent of 360 is 144 ? 1
360 @ o wide 144 & 7
(A) 40% B) 250%
) 12% D) 2.5%
4 The cost price of 10 articles is equal to the selling price of 8 articles. 1

The gain or loss percent is :
(A) Gain 20% (B) Loss 25%
(C) Gain 30% (D) Gain 25%

10 a%gat &1 %9 T 8 a&gell & fahd Y& & IUE §| @ AT B A9 ©

(A) W\ 20% (B) @I 25%
(C) @™ 30% (D) @™ 25%
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5 If the angles of a triangle are in the ratio 2:3:5, then the largest angle of the 1
triangle is :

s U st & @O 2:3:5 % U W &, A BT & GEH T B F
(A) 1200 (B) 100°
(C) 36° (D) 90°

6 In the plane of a triangle, the point equidistant from the sides of the triangle is 1

called its :
(A) Centroid (B) Incentre
(C) Circumcentre (D) Orthocentre
T g & a9 o, I q geell ¥ gy {63 #sann @ o
(A) &= (B) siah=
(C) uih= (D) Wb
7 From external point P, two lines intersecting the circle at 4, B and C, D 1

respectively have been drawn. If PA = 4 cm, AB=6 cm and PD =8 cm,
then PC is equal to :

& g P ¥ g9 @ &1 Uiaesdl W@l Wil 5§ S gd B HEs: A4, B qel
C,D 9T &redl & 1 g PA = 4 9, AB=6 99l 91 PD =8 ¥W &, @ PC 9USY

3
(A) 5 cm (@) B) 3 cm @)
(C) 12 cm (9HY) (D) 5% cm (T
S3/AS/3—211_A] 5 ANAHAHMARIATAAAAD - Contd...
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8 sin* A4 —cos* 4 is equal to : 1
sin4A—cos4A SEISEEE I
(A 1 B) 1- 2cos” 4

© o (D) tan’ A

3s5in219° + 3sin? 71°

9 o o 1 |l to : 1
Scos? 36° + 5 cos2 54° 0 A 1O
35in219° + 3sin? 71° \
Scos? 36° + 5 cos254° o T
(A) 1 B) 0
5
© 3 ®) <
10 Two different dice are thrown together. The probability of getting the same 1

number on both dice is :

& =T uEl @l sHEr $eT TN Tl UEl WX Uk & ' b AN @l

TRIeaT ¥

1 1
(A) EY3 B) .
© 1 D) —

=
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11 In given fig., £B=4C and 4B=AC. Prove that AABE =AACD. 1

@ ™ omfa ®, sB=2C qum AB=-4C ¥\ fag BT 6 AABE=AACD.

B
D
A O
E
C
Fig. (smef)
OR |/ 3l

(For Visually Impaired Candidates Only)
(haw el fmpain foenfai % forg)

In AABC and APQR, ZA=/P,/C=/R and AB=PQ.

Prove that AABC = APQOR.

AABC Q91 APOR ®§ /A=.P,/C=/R T AB=PO.
g BINY 5 AABC = APOR.

12 ABC is an isosceles triangle such that AB=A4C =17 cm and base BC =16 cm. 1
Find the length of median AG.

ABC w# gafgarg Brgst ¥, e 4B = AC = 1799 ¥ d@ BC =163 3|
BT AG B WE TG I
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. 3
13 If sin G:g, evaluate cos0-cot 0.

) 3
Tl s1n9=g T, d cosO-cot® HI HM IMNA BT

14 Prove that : tan® +cot 8 =secB - cosec 6.

firg El'fli%ﬂﬂ, 6 : tan® + cot 6 = secO - cosec .

15 Construct a cumulative frequency distribution table for the following :

T % fMu e dedl SERar 29 |l R

Class (&) 0-10 {10-20 | 20-30 [ 30-40 | 40-50 | 50-60
32 9 7

Frequency (ssman) | 3 10 24

2 7y 8 37 2
3 8

16 Simplify : | =+ — : )
plify [+ 5715

T #i o (2.7), 8 .37
37%8)°25 15

17  Multiply 53160 and 113/400 and hence simplify the result.

53160 & 113/400 ¥ T HFT Jom SAX B @ HifTd |

18 Find the sum which when increased by 15% becomes I 19,320.
g5 TRT T g & 15% s W T 19,320 & W
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19 If the mean of the following data is 18.6 determine the value of p :

gy trefafaq offest &1 Wreg 18.6 ¥, @ p &1 AW I HINT

x [15]16[19]20]p
713 18 [5 |4 [10

20 In the given fig.,, OD is perpendicular to the chord AB of a circle with centre
O and BC is the diameter. Prove that C4A =2 OD.

& ™ smpfa ®, OD %% O I 99 @ Th SiEl AB WX @9 & a9 BC 91
& A T g i %6 C4 =2 0D.

Fig. (i)

21 In the given fig., if AC = BC and AB is the diameter of the circle,
find Zx, 2y, 2z

@ ™ sl ¥, A AC = BC & Q91 AB g9 &1 &AW &, @ Lx, Ly, Zz
A BT |

Fig. (i)

OR |/ Jqa

o
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(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

O 1is the centre of the circle. Points A, B, C lie on the circle. If /40C =120°

then find £4BC .

O 99 &1 %% ¥ figell 4, B, C 99 W Rea ¥ 13t 2400 =120° %, @ 24BC
A BT |

22 Find the diameter of the circle whose centre is at (2, 0) and which passes 2

through the point (7, —12).

SH gd Bl AW I P FHET B (2, 0) T T adm s a4y (7, -12) @
B B ST D)

23 Find the area of triangle of sides 13 cm, 14 cm and 15 cm. 2

ww P, e gemd 13, 1439 qur 1S ¥, & dema T S

24 A farmer buys a circular field at the rate of ¥ 700 per m? for ¥ 4,31,200. 2

Find the perimeter of the field. [Use n:27—2j

% e wH g @a, T 700 Wi av HeX @ & ¥ 3T 4,31,200 § @liEd

S B e s E R [=%wj
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25 Prove that i:z j = (sec 4 — tan A)*. 2
frg wifsio fop ilziizj:(secA—tan A)z.
26 The perimeter of a rectangular garden is 20 m. If the length is 4 m more than 4

the breadth, find the length and breadth of the garden. Hence find its area.

Ueh AR SN &1 9ET 20 B &)1 9fs 3@ @ s, 39 deR 9 4 97 affias
T, WA T B AAE T AR A BN SAd: FUBT %A S BN

27  Find the sum of all 3-digit numbers which leave the remainder 2 when 4
divided by 5.

3-giel @l UHT | d@Een &1 9 o e, RS ¥ 9 & W 2 9
Iaar

28 The cost of a car was I 4,50,000 in January, 2010. If the rate of depreciation 4
is 15% for the first year and 10% for the subsequent years, find its value after

3 years.

SHEl 2010 § UH BR &1 e T 4,50,000 ¥ I wBd I T B X 15%
qAqT ST aw H 10% B, @ 3 I¥ % ULAd IHH I T B

29 In a right triangle, prove that the square on the hypotenuse is equal to sum 4

of the squares on the other two sides.

fog BT 5 e wwer Bgsr o &9 @1 o, o & eielt & M & AN B
IO BT B
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30 In the given fig.,, PT is a tangent to the circle from an external point P. 4
Chord AB of the circle, when produced meets 7P in P. 74 and 7B are

joined and 7M is the angle-bisector of /ATB. If /p4T7T =40° and 47B =60°
show that PM = PT.

& W ampla ®, PIraa & us 91 g P9 ga o wel @ 31 99 & S
AB oM WX TP & P WX THadl ¥ T4 9€1 7B & @ & ¥ qun M @il

ATB &1 GUIEHST® &1 A PAT = 40° QT /ATB = 60° &, al 39NsW f6 PM = PT.

Fig. (i)

OR / g
(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

Two circles intersect in A and B. AC and AD are the diameters of the circles.

Prove that C, B and D are collinear.

T IT A4 3 B # whoess & $1 AC X 4D T 99 &% AW 3 |
fog #ivT 6 C, B ok D @@ ¥
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31 A person standing on the bank of a river observes that the angle of elevation 4

of the top of a tree standing on the opposite bank is 60°. When he moves
40 metres away from the bank, he finds the angle to be 30° Find the height of
the tree and the width of the river.

% AR Tal & T (61 T G B g [ X @ U8 & R@Ex &1 5=
BT 60° UAT g1 S g§ 40 W 4® ' ST g, A BT 30° B S S| US W

175 | R R B | ) = | e e

32 For the following frequency distribution, find the median and the mode : 4

= SHERAT §27 &1 HeERy qu1 9ged T Bieg

x| S|10 115120 (25 (30 (35|40
S |37 (1212028 |31 [28]26
33 Two different dice are thrown at the same time. Find the probability of getting : 4

(1) the sum of numbers on the two dice, greater than 9.

(i) the sum of numbers on the two dice, less than 6.

BRI o B 121 ) e PO o) o s 2 11 2 20 S 5 LU

(i) T el UX STy demmst @ an 9 ¥ siue =
(i) < el uX STy denst ® A 6 ¥ % &l

34 The product of digits of a two digit number is 24. When 18 is added to the 6

number, the digits interchange their places. Determine the number.

T 3Bl AT TH WO % bl B YUNGA 24 F| W9 3@ e ¥ 18 s fm
S, @ ol & WM T@e S §| §E T sk |
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Construct a AABC in which AB = 6 cm, BC =4 c¢cm and the median CD =3.5 cm.

. . 3 . .
Then construct another triangle, whose sides are 2 times the corresponding sides

of AABC .

wh S ABC @ W@ @ity " AB = 6|, BC=4¥W qoT WIS
CD=35% 8| 319 Uah o7F TS & @1 diog, T e, AABC & &d

et A T A
OR / 3yl

(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

Write the steps of construction to draw two tangents to a circle from a given

point outside it.

Th gd % 9l U U R g ¥ g9 W g 9 a9t a1 @y YEnet @
@A B b o @ & e fafaw)

Find the curved surface area of a right circular cone of volume 12936 cm3 and

base diameter 42 cm.

H Wegad o frewr omeas 12936 wR W ¥, qum omum @1 @ 42 W
¥, % 9% U5 Bl e T I

6
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